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Ex.) A wheel turning 2 rad/sex accelerates at 3 rad/sec?. How fast is it spinning after 5 seconds?
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Ex.) The rate at which the drug leaves the bloodstream is

proportional to the amount I the blood stream. A dose of 400

mg of a drug is administered to a patient. After 2 hours,
approximately 376.7 mg remain. The amount of the drug, in milligrams, in the person’s bloodstream after t

hours is given by A(t). Write an equation for A(t).
A.) A(t)=400e0-030008t

[6% Yearbook]

INDVERZELTCDY 7 ATT, 7277 Yearbook D&
FYRIAVHEIATICH 72D T, FN%hbobETh
DIFFFIcR 222 b, RARTH-ZVBETFN—T 4 =% L7720 WK VBEBILTHET,




(LK EH DI TRELFEOHD)

BALIIWED 7o TE T, {TEMARTW2 X5 2R d
LAadbanTT, i) KEBoTcEETcE 3 X
I TCETELLTCRETVERA, &idvx, ¥/
E0HHH Y TITH, HOHIZF 8K Z A5 5 7 iR
I, HOAD X 6KfED S 8IFLHICR W £ L7z, 7ZA7Z
AEADBEL > TET WS Z L7721 T MEMINIC D 72
Wb Ed, (AHChENZ X HICTH HITKRBICY
52 ERBHEV DT, BHWICLRD LA E,-
72CY) T2 TATA b=V XA L0 F -7
7O HAR L OREEL 14 K25 13 FFEICz b £ L 72,
TEADEICED 2 DT, 1 ReEHEIREEHE 23] & h
T2ELELY RADICHRY L,

FLCEbICHE-7-9 70 20Z4i | | fAld. B2 D
TL—=L7=DTTH, ALEYICTL—NTETLETH
BLWTT, FESBROEFIZIY (LnoTHRD 2
FL2Zav e WHEEOFE) ThHTWLEID
TEIHL AR,

INENDREEI NI 2 BREY TE R0 LDHBOIRY T,

GHOMATLEINDH IR LI TTELL, el zddicdbe 2lpLlriheH Tk
EHIEFLL, e 2p»HLPLTHEPKDoTLEI LI DBFELOLNERHA, HRTIIIEH
BOEWELHEE L7z, 2RI A EDXICHEBEITLTL & 90 (EHIER D EWTAZHNOIE- & L
TVnET, THENDOMEMRILT K OWVFIFEFELZIE LA T I,

144 KH



